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MA115 :: Section 6.2 & 6.3 :: Right angle trigonometry

—

Objective: We will define the trigonometric functions in terms of raios
of sides of right triangles and use them to solve practical problems.

For a right triangle with angle 6 as one of its acute angles the trig ratios
are defined as follows:
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Example. Find the siz trig ratios of the angle 6 of the following triangle:
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MA115 :: Section 6.2 & 6.3 :: Right angle trigonometry

Example. Solve the triangle
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Example. The angle of elevation to the top of the old Jamrich Hall is found
to be 60° from 5.5 feet above ground at a distance of 20 feet. Using this
information find the height of the old Jamrich Hall.
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MA115 :: Section 6.2 & 6.3 :: Right angle trigonometry

There are several methods of measuring angles of varying sophistication
(eg., the iGradient app), but I'd like you to learn to use one rather unso-fist-
icated method. We will use our own body parts to measure angles.

This is how you do it - stretch out your arm. Your fist will cover an angle
of about 10°, your index finger 1° and your open hand about 20°.

First, let’s check this using some trig.

1. Extend your arm in front of you. Measure the distance between your
eye and the tip of your finger.

2. Measure the width of your index finger. (across your finger nail.)

3. Calculate the angular width of your finger in degrees.

?
width of finger
M |

<4— Distance from eye to finger——»
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MA115 :: Section 6.2 & 6.3 :: Right angle trigonometry

Example. Find the height of the old Jamrich Hall, but this time go outside
and estimate the angle, height and distance yourself. Compare your answer
to the previous one.

Example. Mesure the height of a light pole on academic mall.

Example. Time permitting, estimate the height of the northeast cor-
ner of the new Jamrich Hall. You’'ll need a partner to estimate the
distance from the fence to the builing using your hands
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MA115 :: Section 6.2 & 6.3 :: Right angle trigonometry

Objective: We will define the trigonometric functions in terms of raios
of sides of right triangles and use them to solve practical problems.

For a right triangle with angle 6 as one of its acute angles the trig ratios éo H EAHLOA

are defined as follows:
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Example. Find the six trig ratios of the angle 6 of the following triangle:
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